

COMMON FIXED POINTS FOR FUZZY MAPPINGS WITH THEIR ASSOCIATED MULTIMAPPINGS

M. S. RATHORE¹, MAMTA SINGH², SARITA RATHORE³, NAVAL SINGH⁴

ABSTRACT : In this paper we obtain a result on fixed points of fuzzy mappings with their associated multimappings which extends the result of [15] and [3].

1. INTRODUCTION

Several fixed point theorems for fuzzy mappings have been obtained by researchers [1, 2, 4-7, 9-14]. Heilpern [7] obtained a fixed point theorem for contractive type fuzzy mappings in metric space. Also Lee and Cho [9] studied fixed point theorems for contractive type fuzzy mappings which are fuzzy analogue of fixed point theorems for contractive type multivalued mappings (see [8]). Lee et al. [10-13] discussed common fixed points of a sequence of fuzzy mappings, especially they [13] showed existence of common fixed points for a pair of fuzzy mappings.

2. PRELIMINARIES

We state some useful notations, definitions and results.

Definition 2.1. Let (X, d) be any metric linear space. A fuzzy set in X is a function with domain X and values in $[0, 1]$.

Definition 2.2. If A is a fuzzy set and $x \in X$, the function values $A(x)$ (or $\mu_A(x)$) is called the grade of membership of x in A .

Definition 2.3. The α -level set of a fuzzy set A , denoted by

$$A_\alpha = \{x : A(x) \geq \alpha\} \text{ if } \alpha \in (0, 1) \text{ and } A_0 = \{x : A(x) > 0\}.$$

Definition 2.4. A fuzzy set A is said to be an approximate quantity iff A_α is compact and convex in X for each $\alpha \in [0, 1]$ and $\sup_{x \in X} A(x) = 1$.

We denote by $W(X)$ the sub collection of approximate quantities, $C(X)$ the set of compact subsets of X , $(C(X), H)$ the Hausdorff metric space and $D(A, B) = \inf_{x \in A, y \in B} d(x, y)$.

Definition 2.5. Let X be an arbitrary set and Y be any metric linear space. F is said to be a fuzzy mapping iff F is a mapping from the set X into $W(Y)$ i.e. $F(x) \in W(Y)$ for each $x \in X$.

Definition 2.6. [16] A point $p \in X$ is called a fixed point of a fuzzy mapping $F : X \rightarrow W(X)$ if $F_p(p) \geq F_p(x)$, for all $x \in X$.

Definition 2.7. [16] If $F : X \rightarrow W(X)$ be a fuzzy mapping. Then, an associated multi mapping $F^\wedge : X \rightarrow CB(X)$ is defined by

$$F^\wedge(x) = \{y \in X : F_x(y) = \max_{u \in X} F_x(u)\}$$

Definition 2.8. [7] $D_\alpha(A, B) = \inf_{x \in A_\alpha, y \in B_\alpha} d(x, y)$

$$H_\alpha(A, B) = \text{dist}_\alpha(A_\alpha, B_\alpha);$$

$$D(A, B) = \sup_\alpha H_\alpha(A, B);$$

The following Lemma is due to Heilpern.

Lemma 2.9. [7] If $\{x_0\} \subset A$, then $D_\alpha(x_0, B) \leq H_\alpha(A, B)$ for each $B \in W(X)$.

Lemma 2.10. $F_p^\wedge(p) \geq F_p^\wedge(x)$ iff $p \in F^\wedge(p)$ for all $x \in X$.

Ray [15] proved the following.

Theorem 2.11. Let (X, d) be a complete metric space, R^+ the set of all non negative real numbers and $w : R^+ \rightarrow R^+$ is a continuous function such that $0 < w(r) < r$, for all r in $R^+ - \{0\}$. Then self mappings f, g and h of X have a unique common fixed point if

- (i) $d(fx, gy) \leq d(hx, hy) - w(d(hx, hy))$,
- (ii) h is continuous,
- (iii) $f(X) \cup g(X) \subseteq h(X)$.

Change [3] proved the following theorem.

Theorem 2.12. Let $F, G : X \rightarrow W(X)$ be two fuzzy mappings and F^\wedge, G^\wedge be their associated multimappings respectively. Suppose that for any $x, y \in X$, the following holds

$$H(F^\wedge(x), G^\wedge(y)) \leq \phi(d(x, y), d(x, F^\wedge(x)), d(x, G^\wedge(y)), d(y, F^\wedge(y)))$$

where the function ϕ satisfies the following conditions

- (i) $\phi : [0, \infty)^5 \rightarrow [0, \infty)$ is non decreasing for each variable and ϕ is upper semi continuous,

(ii) $\phi(t, t, t, at, bt) \leq \phi(t)$, for all $t \geq 0$, where $\phi(t)$ is a function from $[0, \infty)^5$ into $[0, \infty)$ such that $\phi(t) < t$ for all $t > 0$, $\phi(0) = 0$; $a, b = 0, 1, 2$; $a + b = 2$.

Let $\beta > 1$, $x_0 \in X$, $x_1 \in F^\wedge(x_0)$ and define a non-negative real sequence as following ;

$$t_{k+1} = t_k + \phi(\beta(t_k - t_{k-1})); k = 1, 2, \dots; t_0 = 0; t_1 > d(x_0, x_1).$$

If $\{t_k\}$ converges, then F^\wedge and G^\wedge have a unique common fixed point.

3. MAIN RESULT

We prove the following.

Theorem 3.1. Let (X, d) be a complete metric space. Let $F, G : X \rightarrow W(X)$ be two fuzzy mappings and F^\wedge, G^\wedge be their associated multimappings defined from X into $C(X)$ (the set of compact subsets of X) satisfying

$$(i) \quad H^2(F^\wedge x, G^\wedge y) \leq \max\{D^2(x, F^\wedge x), D^2(y, G^\wedge y), D(x, F^\wedge x)D(y, G^\wedge y)$$

$$(\frac{1}{2})d(x, y)[D(x, G^\wedge y) + D(y, F^\wedge x)]\}$$

$$-w(\max\{D^2(x, F^\wedge x), D^2(y, G^\wedge y), D(x, F^\wedge x)D(y, G^\wedge y),$$

$$(\frac{1}{2})d(x, y)[D(x, G^\wedge y) + D(y, F^\wedge x)]\}$$

for all $x, y \in X$; $w : \mathbb{R}^+ \rightarrow \mathbb{R}^+$ a non-decreasing continuous function such that $0 < w(r) < r$, for all $r > 0$ and $w(0) = 0$.

Then there exists a common fixed point of F^\wedge and G^\wedge . Also F and G have a common fixed point.

Proof. Let $x_0 \in X$. Since $C(X)$ is compact. So we can construct a sequence

$\{x_n\}$ such that $x_{2n+1} \in F^\wedge x_{2n}$ and $x_{2n+2} \in G^\wedge x_{2n+1} \forall n = 0, 1, 2 \dots$ with

$$d(x_{2n}, x_{2n-1}) = D(x_{2n}, F^\wedge x_{2n}) \text{ and } d(x_{2n+1}, x_{2n+2}) = D(x_{2n+1}, G^\wedge x_{2n+1}) \text{ and}$$

$$d(x_{2n+1}, x_{2n+2}) \leq H(F^\wedge x_{2n}, G^\wedge x_{2n+1})$$

Using inequality (i), we have

$$d^2(x_1, x_2) \leq H^2(F^\wedge x_0, G^\wedge x_1)$$

$$\leq \max\{D^2(x_0, F^\wedge x_0), D^2(x_1, G^\wedge x_1), D(x_0, F^\wedge x_0)D(x_1, G^\wedge x_1),$$

$$(\frac{1}{2})d(x_0, x_1)[D(x_0, G^\wedge x_1) + D(x_1, F^\wedge x_0)]\}$$

$$\begin{aligned}
& -w(\max\{D^2(x_0, F^{\wedge}x_0), D^2(x_1, G^{\wedge}x_1), D(x_0, F^{\wedge}x_0)D(x_1, G^{\wedge}x_1), \\
& \quad (\frac{1}{2})d(x_0, x_1)[D(x_0, G^{\wedge}x_1) + D(x_1, F^{\wedge}x_0)]\}) \\
& = \max\{d^2(x_0, x_1), d^2(x_1, x_2), d(x_0, x_1)d(x_1, x_2), (\frac{1}{2})d(x_0, x_1)d(x_0, x_2)\} \\
& -w(\max\{d^2(x_0, x_1), d^2(x_1, x_2), d(x_0, x_1)d(x_1, x_2), (\frac{1}{2})d(x_0, x_1)d(x_0, x_2)\}) \\
& \leq \max\{d^2(x_0, x_1), d^2(x_1, x_2), d(x_0, x_1)d(x_1, x_2), \\
& \quad (\frac{1}{2})d(x_0, x_1)[d(x_0, x_1) + d(x_1, x_2)]\} \\
& -w(\max\{d^2(x_0, x_1), d^2(x_1, x_2), d(x_0, x_1)d(x_1, x_2), \\
& \quad (\frac{1}{2})d(x_0, x_1)[d(x_0, x_1) + d(x_1, x_2)]\}) \dots (1)
\end{aligned}$$

If $d(x_1, x_2) > d(x_0, x_1)$, then we have

$$d^2(x_1, x_2) \leq d^2(x_1, x_2) - w(d^2(x_1, x_2)),$$

leading to a contradiction. Therefore, $d(x_1, x_2) \leq d(x_0, x_1)$ and by (1)

$$d^2(x_1, x_2) \leq d^2(x_0, x_1) - w(d^2(x_0, x_1)) \dots (2)$$

Further using (i), we have

$$\begin{aligned}
d^2(x_2, x_3) & \leq H^2(G^{\wedge}x_1, F^{\wedge}x_2) \\
& = H^2(F^{\wedge}x_2, G^{\wedge}x_1) \\
& \leq \max\{D^2(x_2, F^{\wedge}x_2), D^2(x_1, G^{\wedge}x_1), D(x_2, F^{\wedge}x_2)D(x_1, G^{\wedge}x_1) \\
& \quad (\frac{1}{2})d(x_2, x_1)[D(x_2, G^{\wedge}x_1) + D(x_1, F^{\wedge}x_2)]\} \\
& -w(\max\{D^2(x_2, F^{\wedge}x_2), D^2(x_1, G^{\wedge}x_1), D(x_2, F^{\wedge}x_2)D(x_1, G^{\wedge}x_1) \\
& \quad (\frac{1}{2})d(x_2, x_1)[D(x_2, G^{\wedge}x_1) + D(x_1, F^{\wedge}x_2)]\}) \\
& = \max\{d^2(x_2, x_3), d^2(x_1, x_2), d(x_2, x_3)d(x_1, x_2), \\
& \quad (\frac{1}{2})d(x_1, x_2)d(x_1, x_3)\} \\
& -w(\max\{d^2(x_2, x_3), d^2(x_1, x_2), d(x_2, x_3)d(x_1, x_2), \\
& \quad (\frac{1}{2})d(x_1, x_2)d(x_1, x_3)\}).
\end{aligned}$$

This implies with same arguments as above

$$d^2(x_2, x_3) \leq d^2(x_1, x_2) - w(d^2(x_1, x_2)) \dots (3)$$

Similarly,

$$d^2(x_3, x_4) \leq d^2(x_2, x_3) - w(d^2(x_2, x_3)) \quad \dots (4)$$

$$d^2(x_n, x_{n+1}) \leq d^2(x_{n-1}, x_n) - w(d^2(x_{n-1}, x_n)) \quad \dots (3)$$

Adding (2) to (5), we have

$$\sum_{i=0}^{n-1} w(d^2(x_i, x_{i+1})) \leq d^2(x_0, x_1) - d^2(x_n, x_{n+1}) \leq d^2(x_0, x_1)$$

$$\text{This implies, } \sum_{i=0}^{n-1} w(d^2(x_i, x_{i+1})) < \infty \text{ and } \lim_{n \rightarrow \infty} w(d^2(x_n, x_{n+1})) = 0 \quad \dots (6)$$

Since $\{d^2(x_n, x_{n+1})\}$ is a decreasing sequence of non-negative terms, therefore (6) implies that $\lim_{n \rightarrow \infty} d^2(x_n, x_{n+1}) = 0$ and so $\lim_{n \rightarrow \infty} d(x_n, x_{n+1}) = 0$

Suppose that $\{x_n\}$ is not a Cauchy sequence, then there is an $\varepsilon > 0$ such that for each even integer $2K$, there are even integers $2m > 2n > 2K$ such that $d(x_{2m}, x_{2n}) > \varepsilon$ (7)

Also for each even integer $2k$, we can find the least even integer $2m$, exceeding $2n$ such that

$$d(x_{2n}, x_{2m-2}) \leq \varepsilon \quad \dots (8)$$

$$\text{then } \varepsilon < d(x_{2m}, x_{2n}) \leq d(x_{2n}, x_{2m-2}) + d(x_{2m-2}, x_{2m-1}) + d(x_{2m-1}, x_{2m})$$

This implies $d(x_{2m}, x_{2n}) \rightarrow \varepsilon$ as $k \rightarrow \infty$.

Using triangular property of metric space, we have

$$|d(x_{2m}, x_{2n+1}) - d(x_{2m}, x_{2n})| \leq d(x_{2n}, x_{2n+1}),$$

$$|d(x_{2m+1}, x_{2n+1}) - d(x_{2m}, x_{2n+1})| \leq d(x_{2m}, x_{2m+1}),$$

$$|d(x_{2m}, x_{2n+2}) - d(x_{2m}, x_{2n+1})| \leq d(x_{2n+1}, x_{2n+2}),$$

$$\text{and } |d(x_{2m}, x_{2n+2}) - d(x_{2m+1}, x_{2n+1})| \leq d(x_{2n+1}, x_{2n+2})$$

which implies on letting $\lim k \rightarrow \infty$,

$$d(x_{2m}, x_{2m+1}) \rightarrow \varepsilon, \quad d(x_{2m+1}, x_{2n+1}) \rightarrow \varepsilon, \quad d(x_{2m}, x_{2n+2}) \rightarrow \varepsilon$$

$$\text{and } d(x_{2m+1}, x_{2n+2}) \rightarrow \varepsilon.$$

Now using (i), we have

$$d^2(x_{2m+1}, x_{2n+2}) \leq H^2(F \wedge x_{2m}, G \wedge x_{2n+1})$$

$$\begin{aligned} &\leq \max\{D^2(x_{2m}, F^{\wedge}x_{2m}), D^2(x_{2n+1}, G^{\wedge}x_{2n+1}), \\ &D(x_{2m}, F^{\wedge}x_{2m})D(x_{2n+1}, G^{\wedge}x_{2n+1}), \\ &(\frac{1}{2})d(x_{2m}, x_{2n})[D(x_{2m}, G^{\wedge}x_{2n+1}) + D(x_{2n+1}, F^{\wedge}x_{2m})]\} \\ &-w \max\{D^2(x_{2m}, F^{\wedge}x_{2m}), D^2(x_{2n+1}, G^{\wedge}x_{2n+1}), \\ &D(x_{2m}, F^{\wedge}x_{2m})D(x_{2n+1}, G^{\wedge}x_{2n+1}), \\ &(\frac{1}{2})d(x_{2m}, x_{2n})[D(x_{2m}, G^{\wedge}x_{2n+1}) + D(x_{2n+1}, F^{\wedge}x_{2m})]\} \end{aligned}$$

or

$$\begin{aligned} d^2(x_{2m+1}, x_{2n+2}) &\leq \max\{d^2(x_{2m}, x_{2m+1}), d^2(x_{2n+1}, x_{2n+2}), \\ &d(x_{2m}, x_{2m+1})d(x_{2n+1}, x_{2n+2}), \\ &(\frac{1}{2})d(x_{2m}, x_{2n})[d(x_{2m}, x_{2n+2}) + d(x_{2n+1}, x_{2m+1})]\} \\ &-w(\max\{d^2(x_{2m}, x_{2m+1}), d^2(x_{2n+1}, x_{2n+2}), \\ &d(x_{2m}, x_{2m+1})d(x_{2n+1}, x_{2n+2}), \\ &(\frac{1}{2})d(x_{2m}, x_{2n})[d(x_{2m}, x_{2n+2}) + d(x_{2n+1}, x_{2m+1})]\} \end{aligned}$$

which implies on letting $k \rightarrow \infty$,

$$\varepsilon^2 \leq \varepsilon^2 - w(\varepsilon^2)$$

which is a contradiction. Thus $\{x_n\}$ is a Cauchy sequence. Since X is complete, so $\{x_n\}$ converges to a point $u \in X$. Thus, we have

$$\begin{aligned} D^2(x_{2n+1}, G^{\wedge}u) &\leq H^2(F^{\wedge}x_{2n}, G^{\wedge}u) \\ &\leq \max\{D^2(x_{2n}, F^{\wedge}x_{2n}), D^2(u, G^{\wedge}u), D(x_{2n}, F^{\wedge}x_{2n})D(u, G^{\wedge}u), \\ &(\frac{1}{2})d(x_{2n}, u)[D(x_{2n}, G^{\wedge}u) + D(u, F^{\wedge}x_{2n})]\} \\ &-w(\max\{D^2(x_{2n}, F^{\wedge}x_{2n}), D^2(u, G^{\wedge}u), D(x_{2n}, F^{\wedge}x_{2n})D(u, G^{\wedge}u), \\ &(\frac{1}{2})d(x_{2n}, u)[D(x_{2n}, G^{\wedge}u) + D(u, F^{\wedge}x_{2n})]\} \\ &\leq \max\{d^2(x_{2n}, x_{2n+1}), D^2(u, G^{\wedge}u), d(x_{2n}, x_{2n+1})D(u, G^{\wedge}u), \\ &(\frac{1}{2})d(x_{2n}, u)[D(x_{2n}, G^{\wedge}u) + D(u, F^{\wedge}x_{2n})]\}. \end{aligned}$$

Taking limit $n \rightarrow \infty$, we have

$$D^2(u, G^{\wedge}u) \leq \max\{0, D^2(u, G^{\wedge}u), 0, 0\} - w(\max\{0, D^2(u, G^2u), 0, 0\})$$

$$D^2(u, G^{\wedge}u) \leq D^2(u, G^2u) - w(D^2(u, G^2u))$$

which implies that $u \in G^{\wedge}u$.

Similarly, we can prove that $u \in F^{\wedge}u$. Hence $u \in F^{\wedge}u \cap G^{\wedge}u$.

Using Lemma 2.10, it is obvious that $u \in Fu \cap Gu$.

Corollary 3.2. Let $\{F_i\}$ be a sequence of fuzzy mappings of X to $W(X)$ and $\{F_i^{\wedge}\}$ the sequence of its associated multimappings from X to $C(X)$.

Suppose, for any positive integers i, j ; $i \neq j$ and $x, y \in X$, following condition holds.

$$H^2(F_i^{\wedge}x, F_j^{\wedge}y) \leq \max\{D^2(x, F_i^{\wedge}x), D^2(y, F_j^{\wedge}y), D(x, F_i^{\wedge}x)D(y, F_j^{\wedge}y),$$

$$(\frac{1}{2})d(x, y)[D(x, F_j^{\wedge}y) + D(y, F_i^{\wedge}x)]\}$$

$$-w(\max\{D^2(x, F_i^{\wedge}x), D^2(y, F_j^{\wedge}y), D(x, F_i^{\wedge}x)D(y, F_j^{\wedge}y),$$

$$(\frac{1}{2})d(x, y)[D(x, F_j^{\wedge}y) + D(y, F_i^{\wedge}x)]\}$$

where $w : \mathbb{R}^+ \rightarrow \mathbb{R}^+$ is a non-decreasing continuous function such that $0 < w(r) < r$, for all $r > 0$ and $w(0) = 0$. Then there exists a fixed point of $\{F_i^{\wedge}\}$.

Corollary 3.5. Let (X, d) be complete metric space and $\{F_n\}, \{G_n\}$ the sequence of fuzzy mapping of X to $W(X)$ and $\{F_n^{\wedge}\}, \{G_n^{\wedge}\}$ be the sequences of their associated multimapping of X to $C(X)$ (the set of compact subsets of X) converging pointwise to the associated multimappings F^{\wedge}, G^{\wedge} of fuzzy mapping F and G respectively, Satisfying

$$H^2(F_n^{\wedge}x, G_n^{\wedge}x) \leq \max\{D^2(x, F_n^{\wedge}x), D^2(y, G_n^{\wedge}y), D(x, F_n^{\wedge}x)D(y, G_n^{\wedge}y),$$

$$(\frac{1}{2})d(x, y)[D(x, G_n^{\wedge}y) + D(y, F_n^{\wedge}x)]\}$$

$$-w(\max\{D^2(x, F_n^{\wedge}x), D^2(y, G_n^{\wedge}y), D(x, F_n^{\wedge}x)D(y, G_n^{\wedge}y),$$

$$(\frac{1}{2})d(x, y)[D(x, G_n^{\wedge}y) + D(y, F_n^{\wedge}x)]\}$$

Then F^{\wedge} and G^{\wedge} have a unique common fixed point.

Proof. Let $x_0 \in X$. Define the sequence $\{x_n\}$ with

$$x_{2n+1} \in F_n^{\wedge}x_{2n} \text{ and } x_{2n+2} \in G_n^{\wedge}x_{2n+1} \quad \forall n=0,1,2,\dots$$

such that $d(x_{2n+1}, x_{2n+2}) \leq H(F_n^{\wedge} x_{2n}, G_n^{\wedge} x_{2n+1})$.

Now, for $x, y \in X$, we have

$$|D(y, F_n^{\wedge} x) - D(y, F^{\wedge} x)| \leq H(F_n^{\wedge} x, F^{\wedge} x);$$

$$|D(y, G_n^{\wedge} y) - D(y, G^{\wedge} y)| \leq H(G_n^{\wedge} y, G^{\wedge} y)$$

$$|D(x, F_n^{\wedge} x) - D(x, F^{\wedge} x)| \leq H(F_n^{\wedge} x, F^{\wedge} x) \text{ and}$$

$$|D(x, G_n^{\wedge} y) - D(x, G^{\wedge} y)| \leq H(G_n^{\wedge} y, G^{\wedge} y).$$

Now, since H is continuous and $\{F_n^{\wedge}\}, \{G_n^{\wedge}\}$ converge pointwise to F^{\wedge} and G^{\wedge} respectively, hence we get

$$H^2(F^{\wedge} x, G^{\wedge} y) \leq \max\{D^2(x, F^{\wedge} x), D^2(y, G^{\wedge} y), D(x, F^{\wedge} x)D(y, G^{\wedge} y),$$

$$(\frac{1}{2})d(x, y)[D(x, G^{\wedge} y) + D(y, F^{\wedge} x)]\}$$

$$-w(\max\{D^2(x, F^{\wedge} x), D^2(y, G^{\wedge} y), D(x, F^{\wedge} x)D(y, G^{\wedge} y),$$

$$(\frac{1}{2})d(x, y)[D(x, G^{\wedge} y) + D(y, F^{\wedge} x)]\}$$

Now rest part of the proof is similar to the proof of the theorem 2.11.

REFERENCES

1. Bose, R. K. and Sahani, D. : Fuzzy mappings and fixed point theorems, Fuzzy sets and systems 21 (1987), 53-58.
2. Chang, S. S. : Fixed point theorems for fuzzy mappings, Kexue Tongbao (Chinese) 14(1984), 833-836.
3. Chang, S. S. : Fixed points theorems for fuzzy mappings, Fuzzy sets and systems 17 (1985), 181-187.
4. Chang, S. S. : Fixed degree for fuzzy mappings and a generalization of Ky Fan's theorem. Fuzzy sets and systems 24 (1987), 103-112.
5. Chang, S. S. and Huang, N. J. : Fixed point theorems for generalized fuzzy mappings, Acta of Engineering Math. 2 (1984), 135-137.
6. Chitra, A. : A note on the fixed points of fuzzy maps on partially ordered topological spaces, Fuzzy sets and systems 19 (1986), 305-308.
7. Heilpern, S. : Fuzzy mappings and fixed point theorem J. Math. Anal. Appl. 83 (1981), 566-569.

8. Husain, T. and Latif, A. : Fixed points of multivalued non expansive maps. *Internat. J. Math. Math. Sci.* 14(3)(1991), 421-430.
9. Lee, B. S. and Cho, S. J. : A fixed point theorem for contractive type fuzzy mappings, *Fuzzy sets and systems* 61 (1994), 309-312.
10. Lee, B. S. and Cho, S. J. : Common fixed point theorems for sequences of fuzzy mappings. *Internat. J. Math. Math. Sci.* 17 (1994), 423-428.
11. Lee, B. S., Lee, G. M., Cho, S. J. and Kim, D. S. : Generalized common fixed point theorem for a sequence of fuzzy mappings. *Internat J.Math.Sci* 17 (1994), 437-440.
12. Lee, B. S., Lee, G. M., Cho, S. J. and Kim, D. S. : On the common fixed point theorems for a sequences of fuzzy mappings submitted.
13. Lee, B. S., Lee, G. M., Cho, S. J. and Kim, D. S. : A common fixed point theorem for a pair of fuzzy mappings submitted.
14. Lee, B. S., Lee, G. M., Cho, S. J. and Kim, D. S. : Common fixed point for nonexpansive and nonexpansive type fuzzy mappings, *Internat Math. Math. Sci.* 18 to appear.
15. Ray, B. K. : On fixed points in metric spaces, *Indian J. Pure. apple. Math.* 19 (1988), 960-962.
16. Sastry, K. P. R., Naidu S. V. R. and Ravikishore, M. V. K. : Fixed points theorems for multi maps and applications to fuzzy maps, *Bull. Cal. Math. Soc.* 82 (1990), 57-66.
17. Som, T. And Mukherjee, R. N. : Some fixed point theorems for fuzzy mappings, *Fuzzy sets and systems* 33 (1889), 213-219.

¹ Government P. G. College
Sehore
Madhya Pradesh

² Department of Mathematics and Computer Application
Bundelkhand University, Jhansi
Uttar Pradesh

³ Government M. L. B. H. S. S.
Sehore
Madhya Pradesh

⁴ Government Science and Commerce College
Benazir, Bhopal
Madhya Pradesh